Concept Lecture - 9




Six persons went to a hotel for taking their
meals. Five of them spent X32 each on their
meals while the 6" person spent 380 more than
the average expenditure of all the six. Total
money spent by all the persons is:

AT dF & AT 6 gfFd gled T 3aH
T 9T A 39T Hi9T W 32 39 @ 6,
Jafh 69 IfFd & gt & & wa @T @
80 I I¥e wu R gt afFaat
EaRT @A T T Fer 81T FAT §?

a)3192  b) 3240 \yﬁ{zss d) 3336




8 persons went to a hotel for taking their
meals. Seven of them spent 350 each on their
meals while the 8t" person spent 370 more
than the average expenditure of all the eight.
Total money spent by all the persons is:

Mo o & v 8 =afFa gead v
394 O 9 & 39 ST W 50 9
gd ), S9fF s gfFa o @t 8 &
dta @4 @ 70 9 3®e @ A
gaft safeFaal qarr @ fohar arm Fo o
T &7

a) 3500 3480 ¢)3I470  d) 3400




30 people went to a restaurant for a
dinner party. 20 of them paid Rs. 880
110X10= |ldgD - 55 each, @ the rest of them paid Rs. 110
- more than the average of the total
0 -|-88 O expenses. What was the total expense
——= 7 ~ (inRs.) for the dinner?
= 20X 925 vz faemw Wt & faw 30 T R
TR H 7T 3774 § 20 9AF &
880 FT Sfararer faham 3R Ay ot
¥ IAF o Fol @At F 3dwa F 110
HOF A fhan B & AT Fa
@d (¥ ) Rraar ar?
a) 27,840 b) 29,360
c) 24,580 _#728,050

[ 4



-|x60=

60
110

160 _ |6
N xco

There were 50 students in a hostel. If the
number of students be increased by 10, the
expenditure on food increases byl X100({per day
while the average expenditure of students is
reduced by Re.l. What was the initial
expenditure on food per day?

it om@m # 50 Rt 9 IR
et i '@ 10 «g o & @
M W g @4t 100 9T 98 AT &,
J4fh 9+ oF &7 3Jad @47 1 399 A
A ST B oEEE 1 yfafld yRfAw @t
fraeT 91?

a)3600 b)3I840 ¢)3I780 \ﬁsoo




250 +42 = 420-1)
4= T
12

L,5%12= YLO

There were 35 students in a hostel. If the
number of students be increased by 7, the total
expenditure on food increases by 342 per day
while the average expenditure of students is
reduced by Re.l. What was the initial
expenditure on food per day?

fFdft smmEm # 35 fagEdt a1 afy
et # ' 7 T St & @
Mo W} gyfafes @4t 42 S99 98 o6 §,
J9fF IdF oF & i¥d @491 1 9T
FH g JAGT & SEEE &1 yfatd IRfAw
°T fhder 41?

a)3I432  b) 3442 J%ztzo d) 3400




1200 o, + 5000 = 1500(—5)
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There were 1200 in a hostel. If the

number of studentis increases by 300,
then the expenses of the mess increases by
X5,000 per day, while the average
expenditure per head diminishes by X5. The
original expenditure of the mess, per day, is:

TH gEed A 1200 o | Ife 300 B
A 9 s & ar AW FT @I 5,000
gfa & 9¢ Srar % safd ufa =afea
stua @ & 5 A7 FA @ S ¥ AW
#1 9fa a1 &1 7o @< fFaem 87
a) X 52,000 b) X 45,000

50, 000 d) % 55,000
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a < b =132
2 L

+b+‘L = ?)DQ
@H’bﬂ = 7

There are three positive numbers. If the
average of any two of them is added to the
third number, the resulting sums are 154
148 and 132. The sum of the original three
numbers is:

AT udATcHE wEansit #H ¥ P @
FEgIHT FT 3, HEH gEAr A S
ST &, @ gRomet Iereer 154, 148
Ak 132 wew @ ¥ A e
HEGTHT HT ARMBT AT B

a) 222 b) 231
c) 246 217
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There are three positive integers. If the
average of any two of them is added to the
third, the resulting sums are 181, 172 and
160. The average of the given integers is:

de vereAs oits §1 Ay I @
fheel ar tI'UISI'EFT &1 3itad, @y quits
# S e ¥, @ GRUmE @Ereer
181, 172 3R 160 gar g fRu v

Uit @1 sitwe e )
a) 78.5 4 85.5
c) 86 d) 84
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There are four numbers. The averages
of each possible pair of numbers were
found. The results are 14, 16.5,
—_— T—
18.5, 23.5, 25.5 and 28. What is the
average of all the four numbers?
IR &I 4 TS § 3 weE
S F1 Ed RAFET I I F
14, 16.5, 18.5, 23.5, 25.5 3T 28
8] RI HeEgrar &1 sttaa aa Gy

a) 16 b) 18
d) 23
! l'l|'3,2, )

] 1w



i In a group of five friends, the sum of ages (in
al.b/CIO{; Q’, years) of each group of 4 of them are
124,128,130, 136 andi) The age (in
years) of the youngest of them is )
é(a+b+(+d+e)~660 ue A & TR 9 A, IR A & e
==27—=165 9% 9 F AT 124,128,130,136 IR
I _yg 14281 9 R B A g W@ X
a)18 b) 21
3 923 d) 27




+b+C= %d-24

A+b+(+d= 168

The average of a, b and c is,8 less than d, If
the average of a, b c and d is 42, then what
is the average of (3d - 2) and (d + 5)?

a, b 3iX ¢ #1 394, d ¥ 8 FH gl I
a, b c 3T d & 3w 42 &, aF 3d- 2)
3R (d+5) F7 3twa AT WY

a) 96.5 % 97.5

c)99.5 d) 98.5
Ud 43 _
a ~§o\+\‘5




Ot+btC+0l= 8d+16”

Jt &

|05+2: |, €=I5
.
C+q =
o -

€

The average of the numbers a, b, c and d
is 2d + 4, Also, the averages of the
numbersaand b; band c; c an,g $ ?r—ef ?, 5
and 4, respectively. If e = ad +d + 1,
then what is the average of the numbers
d and e?
HEATHT a, b, ¢ 3 d F7 39T 2d + 4
el TT &, AT a 3 b; b 3 ¢; ¢
3 d; #1 taa s 8, 5 3K 4 gl
I e =a+d + 1 %, ar gEam d
AR ewr T IG WY
\af 8 b) 8.5

c)3 d)7

| | 13



a bc,d
aQ+d= 26.2

0+b= |4

b+C’U|6
2. R

C+d = 16.8

Four numbers are written in a row. The average of
first two numbers is'7, the average of middle two
numbers is -2.3 and the average of last two
numbers is 8.4. The average of first number and
the last number is

IR W&l U 9fFd & fo@l wE gger
&t &1 a7 § AT & & gEAnsit a7
sdtaa 2.3 & Jur Afaw & gEHt Fr twa
8.4 gl ugen 3R 3faw w=wmit #r 3twa
AT A

a)5.9  b)10.7 %3.1 d) can’t say




hiprc = D

C+D+€=ﬁ(36
€+F =96
e+C= 120"

%6 _ g
S

The average score of A, B and C in a test is 78
and that of C,D and E is 52. The average score
of E and F is 48 and that of E and C is 60. What
is the average score of A,B,C,D,Eand F ?

TF ql&0T H A, B AR ¢ &1 9T TR
78 ¢ 3R co3ReExw 52 &I e FaT
staa TR 48 § 3R E 3R ¢ &1 3twa
THR 60 21 A, B, C, D, E 3R F &1 3tad
THR 4T 27

a) 62 b) 67 963 fe1




A+R+C= 54
C+D+£&= 36

E+tF= ¢
—E+e= A

e

The average of A, B and C is 18 and that of C,
D and E is 12 and that of E and F is 6.5 and
that of E and C is 3. 5. What is the average of
A B,C,D,E and F?

A, B 3R ¢ #1 3itwa 18 & du1 ¢, D 3R
E & 3itaa 12 aur E 3k F &1 3ikaa
6.5 a4 E 3R ¢ 3twa 3.5 &,
A,B,C,D,E 3 F &1 3itaa «ar 82

a) 24 %6 c)18 d) 22




Of three numbers, the average of first and second is
greater than the average of the second and third by
15. What is the difference between the first and the
third number?

e gt & @, gger 3k TEAT FI
3wa, qudt 3R el v & ¥ 15 a3
g1 ggall 3R il & &1 HAR AT W

a) 15 b) 45 c) 60 d) can’t say oT




23
M x%= 42
—“0)_“‘4
\V4
- Y
m 1\

Consider ten consecutive odd numbers
starting from 5. Multiply each of them,
except the first and the second, with three.
What will be the average of the ten
numbers so formed?

5 @ AR F& g0 HAw R{ww weaw
d wger 3R gE # o, Av
A% & e & oM F| AT F @y
TH YR @ ) arell aH WEAHT FT




The average of ten numbers is A. If c is
subtracted from each number, E—xcept the
tenth and (¢ — 1) is subtracted from the tenth
number, then what will be the new average?
ga gEgit &1 3taa A B 3 gad
TEAT H BISH TAH TE&AT F ¢ T[T
Srar g 3 gudt @' ¥ (c—1) "ern
STaT ®, ar 737 e F4T e
A—c+0.1 b)Ad-c
c)A—-c+1 d)A—-(0.1)c+0.1
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